A
*
R

REBE T EEFAGRAF Pod imiER

#HE-FR*0~300mm
HiTik: GB/T 21389-2008

mminch X

1728

orr T on [ zero

80 90 100 110 120 130 140 150
mm

R E BT E#R
<

I

5

5=

CERTNEIRT. IR, ARERE. - AN SPCIEOMT .
- BFE, /X, ON/FEEEER, - $HfNERth: LR44-1.55V,
- R,
FERASH
e TS Eom A¥Hmmiin HEmm \ .
1013010001 0-100 0.01/.0005 +0.02 &
1013015001 0-150 (iB/5#) 0.01/.0005 +0.03 HE
1013020001 0-200 (#B/5#) 0.01/.0005 +0.03 BE
1013030001 0-300 0.01/.0005 +0.04 BHE
FERT
. EARST (mm) |
885 Bl \
L A B c H M| W
0-100 170 61 13.2 13.4 3.3 30 M2.5x8 5013090100 5013130077
0-150 234 77 | 16 16.5 | 3:5) | 40 M2.5x8 | 5013090100 5013130077
0-200 289 89 16 18.5 3.5 50 M2.5x8 5013090100 5013130077
0-300 405 111 19 22 4.0 64 M2.5x8 5013090100 5013130077

AO1

A >



